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No. of Questions : 200
At #Y w200
Time : 2 Hours | - . [ Full Marks : 300
THY : 2 gog] | - [ gvTtE: 300

Note/T: (1) Attempt as many questions as you can. Bach question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark wil
be awarded for each unattempted question. |
Hﬁﬁ*ﬂﬁﬂﬁﬂﬁﬁﬂiﬁﬁimﬁﬂﬁlmﬁﬁﬁﬂﬁﬂilm
THG TR & oy % aiw HET TN Sl S U9 @7 qrais T
&FTF |

2} If more than one alternative answers seem to be approximate to the
carrect answer, choose the ¢losest one.
ﬂ%m-ﬁaﬁmaﬁﬂﬁrmzﬁm-mﬁﬁﬁmﬁnw
9N 2 |

(3) This paper comptitas of Five Sections. Sections I and IT are compulsory
whereas cml]g one Section out of LI, IV and V is i be a ttempted.

YT WO UF Uiy weet ey wey I ¢d H ofrorf & wafd wrg TI, 1V
VH 3R e & oo a2

SECTION - |
GUg |
MENTAL AGTUITY
(Compulsery for all)

1. Cﬁomathe S0P of letters which ig differenrﬁm-‘@the%
o quﬁmm;wﬁsﬁﬁimﬁﬁﬁr?:

. oge®

(1) ABD (2) HIK @vwz Y (mQgy

b

41 P.T.0
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2. Find the number at gquestion mark :
TATE S E @ T TR o dTelr Wl &e
10000, 11009, 9900, 10890, 9801, ?

(1) 10241 (2) 10423 (3) 10781 (4) 10929

3. How many ierms are there in the seriee 201, 208, 215, ..., 3697
201, 208, 215, ..., 369 @4 4 wa Fhed T (24) g7

(1) 23 (2) 24 3) 25 ) 26

A Tf 4 ie substractod from cube root of any number, it becomes 3. What is the

number ?
{1} 729 (2) B29
(3) 3 (4) None of these

R el e & 958 e ¥ 4 uord O, |1 ar 5 e &, a1 der var € 7
(13 729 (2) 829
(3) 3 (4) o & @R TE

5. 1 3 men working for 6 howrs a day can reap a field in 20 days, then in -_
many days will 15 men reap the field with working hours at 8 hoursa day ?
(1) Sdays (2) 6days
days (@) 9 days
e G e o A @1 e A o ot af R @ fRem & 20 R eend 2
15 el 9 Wa B B § 8 Ut ofa Rw @M W frad fom ¥ werd W
P 7

(1) 573 (2) 6 R

3) T% e 4 9 fas
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- lf the difference between the interest received from two different banks on

Rs. BDU_'ﬁ::r 2 years is:Rs. 2.50, the difference between their rates is :
(1) 1percent (2) .0.50 pervent
(3) 250 percent (4) 0.25 percent

TR ) SEI-SRRT Ff w7 500 TR W @ W $ @ 5 Gy Go 250 2 ar
ST WIS §Y W SR BN

(1) 1 wfirémr (2) ﬂ.ﬁnﬁw
(3) 2.50 yfdforr C(d) .25 Wiawe
. The sum of intérnal angle of Hexagon s
(1 7200 @ 360°
(3) 620° (4) Noneof these
TF T # WS aifoRa T @ o B R -
{1y 7200 - (2) 360°
(3) 620° | (4) 37 ¥ B 1

- The next number fi Brtegllowing series is ;

Preafia e # am arch e B0 -

40, 60, 47,53,54, .......... ?

(1) 33 (2} 59 (3) 46 (4) 61
+  Find the missing term :

o T% Y ¢

aj 12

el

i e
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10.

11,

12.

13.

A is three times as old as B. C was twice as old as A four years ago. [n four

years' lime, A will be 31. What are the presentagesof Band C?

A:ﬁmuﬁﬁaﬁ%waﬁgﬁcrﬁwgqﬁa’rﬂ:ﬁeﬁ‘rmaﬂﬁmﬁm"r
w7 31 ad & @gh | BY C# adars sy v @ ?

(1) 9,46 (2) 9,50
(3) 10, 46 (4) 10,50
In an examination, 52 percent students failed in Hindi and 42 percent failed in

English. 1f 17% failed in both of these subjects, what percentage of students
passed, in both subjects ?

{1) 38 percent (2) 33 percent
(3)- 23 percent (4) 18 percent

*qfﬁﬁﬂﬁﬂmama%##rﬁﬁﬁnﬁ#m@ﬁwm i oe @ T
AR 17 viem v el vt ¥ @= @ M @ S fawdt & o ge BN @
prifsadis o DG

(1) 38 sfererg (2) 33 wfcrae
(3) 23 vfaew (4) 18 wicraer
Mr. and Mrs. Gopal have three daughters and each daughter has one brother.

How many persons are there in the family ?

fmr ofe s e @ O 3 Felel $ oy 5 TF GEB W T A 81
aﬁ%muﬁmﬁﬁmﬁwﬁ?

M5 (2) 6 (3) 7 (4) 8

The smallest nurmnber of five digits, exactly divisible by 476 is
o Refore 9 wed o) wen w1 R 4760 T e ¥ & 9 vl §, 9% ¥
(1) 47,600 (2) 10,000

(3) 10,476 (4) 10472

(4)
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14.  The ratio of three numbers is 3: 4 - § and the sum.of their squares is 1250, then

15.

16.

17.

the sum of numbers is :

(1} 30 (2) 50 (3) 60 (4) 90

?ﬁﬁﬁmmﬁmiﬂﬁqﬁ.%:4-;5&@1?&%?1&?1@312&%;&33%@

If the radiis of a cirde is increased by 6 percen; then the mamﬁwsef;l by:
(1) 6 pereent : (2) 12 percent
(3) 12.36'percint {4) 16.64 percent

WWW@ﬁWﬁﬁmmﬁmm.ﬁwé%ﬂ%ﬁﬁm
27 o

(1) 6ufre (2) 12 uféym

@) 1236w (4) 16645fver

A Hall is15 metre long and 12 metre broad. If the sum of areas of the floor and
the ceiling is equal to the sum of areas of the four walls, the volume of the hall -

151
(1) 720 cubic metre (2) 900 cubicmetre
(3) 1200 cubic metre  {8) 1800 cubic metre

U% g 15 Wew ewar §, i 12 #ew i 2| e ot oty wm @ HIFH HT Y,
el (aR) @ famer @ avy 8% B w srgme (volume) & ;

(1) 720 91 Hex 2) 900 Hrex
(3) 1200 %% #ew : (&) 1800 v% Rex

A boatman goes 2 kilometre against the current of the stream in T hour and

goes 1 kilometra alang the quzzept,in 10 minateseHow, long it will take to go 5

kilometre in S.tatiDl"lar}' water ?

(1) 40 minutes (2) 1 hour |
(3) 1 hour 15 minut mm ;Hmffres

45) P.TO.
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18.

19,

20.

Te A TAR Al aeft e wrr @ fudd v oae § 2 feeried W 2 @R 1
e & Ut & v & iy 1 Bredee ondr 8| o Ut Rer wwen 8, T @l
5 TRe e o ® e e o Y

(1) 40 fisre (2) 1z
(3) 1%er 15wz (4) 1.9e130 fame

A certain amount of money is distributed among A, B and C. Agets3/16and B
gets 1/4 of the whole amount. If C gets Rs. 81, then B gets :

(1) Rs. 30 (2) Rs.32

(3} Rs.36 (4) Rs.28
@mﬁ,Baﬁvcﬁzﬁeﬂr%waaﬁsxlsahnm“rm%w@aﬂﬁﬂm%
IR C 7 81 o e & @ B T 2

(1) 30%7Y 2) 32%9

{3) 36 vU (4) 28 9

The missing number in the following segment of the circle is :

e TR A e O B B Wi o) WEl Wl

(1) 720 (2) 567 (3) 1287 (4) 900

The side of a square is reduced to one half of its original value. What is the
percentage reduction in the area ?

(@ XGEER @ T ) TH B sae orard BT aryr B A W § ) SED HIwd

3 R s @ B4 8w ?
) S0 (2 75% (3) 30% (4) 45%

(6)
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22,

23.
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If x stands for —, + stands for +, + stands for + and - stands for %, which-one of

the following equations is correct ?

M x & WM W —, + B G W+, + B W R+ T — B W W x 8 e B

(1) 15-5+5x20+10=6 2) 8+10-345x6=8

(3) 6x2+3+12-3=15 (4) 3+?m5x1u+3;11}

Arrange the following words accurding to Er-'aglish dictionary :
eﬁ?ﬁm%--wﬁﬁtwwﬁmaﬁmwm?

() Bpitaxy (i) Episode  (iii) Epigene  (iv) Epitome (v) Epilogue
(1) &), (i), (i), [i‘v‘}f (v) . -2 'Eii_i}-: (i), (v), {iv), (i)

(3} (i), (v), (i), (i), (iv) | : 4) (v, (iv), (11} (i), (111}

Three persens A, B and C are standing in a queue. THéte are. five persons
between A and B and eight parsons between B and C. If there are three persons
ahead of C and 21 before A, then what could be the minimum number of
persons in the quetse ?

v

A, Bacﬁiﬁﬂlﬁﬁrwﬁmﬁiﬂ@%lAeﬂ?Bﬁﬁ?EWBaﬁ?Cﬂ?ms
e %) aﬁeca%am%ﬁ%“aﬁwﬂmﬁaﬂfmmqw
el @) wEw 7 e ?

1y 27 @ 28 (3) 40 4 4.

{7)
3 PTo
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24. At what time between 4 o'clock and 5 o'clock, the minule hand will cross the
hour nand ?

G .
(1) 21; minutes past 4 o'clock, (2) 51—51 minutes past 4 o'clock
(3) F’—g‘-minures past 4 o'clock (4) 4 ; minutes past 4 ¢'clock

@ ud A 4ol 50 & g A frw v e A gE 02 @ gd @ IR @l T

(1) 479+ B zl%ﬁa'ﬁa T @) 47w B 52 firme =g
(3) 4T B ."—% fawe a9 (4 4@ B 42 e A

25. A woman is 3 years younger than her hushand and 5 years back, she was thrice
the age of her daughter. The present age of the husband equals to the combined
ages of daughter and wife 3 years back. The present age of the woman is .

(1) 40 years " (2) 35 years

(3} 25 years (4) 45 years

E-ﬁmaawr‘fv%%aFrﬁmﬁaﬂmq*mmwmﬁmﬁzﬁaﬁ%aa o)

éﬁﬁm?ﬁuﬁ.adﬁww$wﬁwﬁw%m“ﬁ@ﬁaﬂ?ﬂﬁﬁﬁ?
_ < S W 59 B frea | g e dlka 9w w8 7

(1) 40 ¢ (2) 354
(3) 254 (4) 45
SECTION - i
avg - |
CHEMISTRY
{Compulsory for all)

2§. How many isomers are possible for hexane ?
gﬁqzﬁﬁmﬁwmﬂﬂmwﬁ?

() 3 @+ A5 4 6

(8)



27.

28,

29,
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Addition of 2 molecules of FHBr to Propyne gives :

(1) 2,2-dibromopropane (2) 1, 2-dibromopropane
(3) 1, 3-dibromopropane 4) 1, 1-dibromopropane
ST HBr & =Y a1 & 7 ot % dar &

(1) 2, 2-BrgarEds (2 1,2-srgariue

(3) 1, 3-Srmm {4) 1, 1-Srgamime

Reaction of n-propylbromide with sodium ethoxide gives :
n-ArTee g e Tofoee ¥ ot e 2 B

(1} CH3CH>O-CH:CH; (2) CH:CH:CH--O-CH;4

(3) CHCHO-CHs (4) CHsCH-Q-CHiCHCHa

Hydroboration-oxidation of Pfﬁf:’é?feﬁ'ﬂmm

I FERRREE ST e T 2 €
(1) CHCH(OHCH, ) CHCHCHOH
] S0 (&) CHsCOCH;

Which of thie following alcohols is least soluble jn.waker 2
frfeRen siearen A T § S EW gemde A 2 7

(1) HOCH;CH,OH i) CH;CH;:DH

() CHCHCH,OH () CHCATCHLMON

| f
%) PTO.
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31, CH3CH2CN on acid nydrolysis gives

(1) Ethanoic Acid (2} Propanoic Acid
{3) Bulanvic Acid (4) Ethanamide
CILCHACN sieelly agees] HET 9T 8 & - |
(1) ve=igs v (2) WIAEE S
{3) HCHAYE IF (4) TEAHIES

32.  Which of the following gives Tollen's est ?

(1) Ethylene (2) Ethanol
(3} Acelaldehyde (4) Acetic acid
e § ®F S 9dem S E 7

(1) gumger (2) v-Ta

(3) ghRrcfssns (4) yBfes e

33. Reaction of sodium ethaoxide with alkyl halide is calied :

(1) Williamson y}'t\Lhusiﬂ (2) Fitlig reaction
(3) Reformatsky reaction (4) Wurtz reaction
At weltce § T URew deee @1 afifEd ol gE €
(1) fftreraas deemor (2) fpfesr afafemr
3y Rsflewa affm (4) gui i
94. Reaction of Phenol with Bromine in carbon disulphide at low temperature
gi vk _
wﬁmﬁwwmﬁwmﬁqmﬁaﬁﬁmaﬁ#w T B .
oH OH CH . OH
R ' Br S B
- @ i © fj @ 1
[.” @5' e \T/ .
Br Br Bt

(1)
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37.
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Which one of the loliowing shows negative devialion from Raoult's Law ?
P 3 & Bl e & P F woomers Rees getar 2 7
(1) AHmu> 0 (2) ﬁl—!::mig <D

(3) AHmix=f ' (4} AHmix2 0

The standard electrode potentials of Fe* /Fe and Sn®*/Sn electrodes are —0.44 V
and —0.14 V respectively, The standard: emf ﬂf the cell with net ceH reaction
Fe + 8n®* — Fe™ + 5n would be :

Fe® /Fe Q9T Sn*/Sn Tolgiel % wre fwa wwer 044 o —0.14 e ¥ 9=
%ﬂﬂﬁamﬁfﬁfﬁrf*&+bn”—}ﬁ +8n 8, & AFT fdo gio go @1 7 Ay -

(1) 0.58V (2} 030V

(3) 030V (4) 0,58V

Which of the following statemmrts is.cappect ? .

{1) Entrapy is an .i_ntensive property. i

(2) Entropy is an extensive property.

(3) Brtropy of universe decreases on the occurrence of wreversible process.
(4) Entropy of universe increases on the oceurrence of reversible process.
st wor} ﬂf."#r P W ?

1) TE @ e qond &)

@) vEHR v vt Jome 3y

(3) s geruvfia wew ¥ TR e

(4) Terolta THE TR aadl &

Wil PT.0
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38.

39.

40.

Which of the following colloids shows largest ‘gold number' ?
(1) Gelatin (2} Gum

(3) Albumin (@) Staich

e werget 3 W wi wad s @ wer auid & 7
(1) faares {2) g

(3) oA (4) T

{onsider the reaction :
A+B=C+D

4.0 moles of A react wilth 4.0 moles of B and at equilibrium and 2.0 moles of C is

formed. The equilibrium constant of this reaction would be :
et ittt g [Bum #IRag
A+B=C+D

A%4.n%3$4.ﬂﬁaﬂmﬁ%ﬁwmﬁwwca%z.un’mwa%ﬁ‘rw
safr & ary faRis g

(1) +2 2) 1 (3) 2 (4} 4

At what temperature the average speed of CHs molecules will be the same as
that of O: molecules at 300K ?

Soq qrH W CHy et ) e 7 o @ & foaed B Ox @ oyl =
e wify 300 K X 2 ?

1) 150K | (2) 300K

(3) 600K g 00K

(12)



41.

42,
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In the synthesis of NIla by Haber process, Fe and Al:Os used to behave
respectively as :

(1) Catalyst and catalytic promaoter

(2) Catalyst and catalytic paisc-n

(3) Catalytic promoter and catalyst

(4) Cataiytic poison and catalyst

23 AR 570 NE @ ewer ¥ s B oom ALOsw: 98 e &
(1) JuRe wor SSivaads Srar

(2) SeE T sy Sy

(3) SenTwm U TS d6r

(4) ey W wdvE S

The ion that earinot be precipitated by both HCl and 1,8

HCL 7o HsS 85t & g7 s = R o s arerr sy 2
M e

(3) Ag' (4) Sn®*

Ascorbic acid isa/an -

(1) Profeln = . (2) Fal

(3) Enzyme | (&) Vitamin:

i o & 0T

(1) e

() o @) faeaf -
(13)

.PTO.
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44. ‘Which one of the following is incorrect ?

et & -4 TATE 7

ﬂ 5 e
(1) K,=K.p™ (2) AG®=-RTInK,
. (8L
{3) S=kInW 4) Cy= ~._E'TJF

45. pH of 107 M aqueous solution of CuSO, is :

(1) 2 (2) »7

(31 <7 4) 7

CuSOy & 1072 Marel Urll & 1 &1 pH:

(1) 28 & () 79 s B 8
(3) 7% &% B B (4) 7N &

. : I

46. The relation, pa—; is:
(1) de Broglie relation
(2) Einstein relation
{3) Planck's quantizalion

(4) Heisenherg uncerlainty relation

h

(1) DFTE T 2
(2) FEeTET B
(3) i FETETERY] AR §

@) gﬁswﬁzﬁaﬁﬁt‘%ﬁﬁaﬁﬁm%

(14)
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47. How many grams of O will have same no. of molecules to that of 0.5 g of H» ? |

(1) 8¢ _ _ ) 16g

(3) 32g ' (4) 64 g

O % & o S w8 R 5 050 Hy H o & 7
(1) 830 2) 1670

(3) 3270 | (4) 6477

48. Which of the following has the highest bond order ?
Fet % R et weum dive av 2 7
(1) N2 2 o*
¥ 0 (4 Hej

49.  The molality 6£ 2.5 g of ethanolic acid (CHsCOOH) in 75 g of benzene will be :

75 3 38 % 2.5 7 g ofve (CH;COOH) #t #1aferet (molality) -
gnft ?

(1) 0556 miol kgt (2) 0.556 mol dm
(3) 0.0556 mol kg  (4) 0.0556 mol dm>

90. German silveris an-alloy consisting of :

(1) Cu, Znand Ni - (2) Cu,Znand Cd
(3) Ni CuandZn (4}'Ag,zn$nd Cd
w7 R Rserg ¥ B k.
(1} Cu, ZnaNi . @CuZnygg
(3) Ni,CudZn | @ AgZnacd
| | B S ER PTO.
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51.

52.

SECTION - 1l!
g — |l
PHYSICS AND MATHEMATICS
[ PHYSICS |

A resislance R is to be measured using a meter bridge. Student chooses the
standdard resistance S to be 100 €. He finds the null poinl at I, =28 cmy e is
told to atbempt to improve the accuracy. Which of the following is a useful

way

(1) He should measure [ more accurately.

(2) He should change § to 1000 £ and repeat Lhe experiment.
(3) He should change 5 03 Q and rup-:‘ai:'l the experiment.

{4) e should give up hope of a more accurale measurement with a meter

bridge. »

1‘1‘1?.?%'&3mﬁs‘mgﬁrWRrrmmm%qaawaWﬁm”mm
mU;lmﬁT%aaﬁsﬁ:ﬁﬁ‘mﬁﬁi,;z.eﬂﬂmﬁﬁ]wtrﬁsﬁﬂwﬁ@mﬁ
Faquuﬁrafﬁﬁmm%,aﬂ'ﬂ%%qﬁﬂfaﬁﬂv i Hiq Surh en B 7

(1) 59 [, 1 3 afere ufyergel § WO ATeT |

(2) S § H 1000 € Fee T STERT AR '

(3) T S & 30 TR FE e A

(4) q-@ﬁmq}g%Waﬂaﬁﬁwﬁﬁmﬂ%@mmﬁmﬁm |

liny insects walk on the surface of water due to 2
(1) Buoyancy alone

(2) Both bupyancy and surface tension

(3) Surface tension alune '

(4) Neither buoyancy nor surface tension

(16)



23
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BIC B Tl 3 Thw ) P R T o §

(1) Do Seeramar

(2) ITAEIH G YS T

(3) daw yw T

(4) 7 STARF 7 PO T

1 mole of H, gas is contained in a box of volume V = 1.00 m* at T = 300 K. The
gasisheated kv a témpﬁlfﬂharenf?":smulcand the gas gets converted to a gas

of hydrogen atutns. The final pressure would be (considering al! gases to be
ideal) ; : : $ :
(1) Same as the pressure initially,
(2} 2 times the pressure iritially, -
{3) 10 times the pressure initially:
(4) 20 tirnes the pressure initially,

VA H, T T = 300 K ave w7 omns V=100m & 3w & wir & T =3000 K

a‘i-fnrr'ﬂﬁ%raﬁnﬁ%mm%mmﬁw‘&gﬁﬁ-*%mmﬁ
'm%nw-.%mw.ﬁm?mgq):

{l}mém?ﬁm! ‘
(2) o9 & 5@ @1 e

(3) W™ F TR F 10 Ay

(4) aR™ & 7@ w120 T

Heat is associated with :

(1) Kumﬂrmfrgwﬁmwﬂn of molecules.

(2} Kineticenergy of crderiy motion of nm’lech]&q

(3) Totat kineticEffengy. ofremiom and orderly motionabmsiaciias.

(4) Kmenc energy of random motion in some cases and kineti~ energy of
ordefly mstiatiivathens

(17) PTO
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6T Hftaa B &
(1) @ @ argFu® TR B Tl e @
(2) el @ e 7 A e e S
(3) afsil A wrgfos (d R nlal ® Fd ol
{4}@;ﬁwﬁﬁaﬁﬁﬂtﬁﬁ'ﬁﬁﬁmmﬁi#ﬁmﬁaammﬂmﬁm
afe 2 T e @

55. Sound waves of wavelength % lravelling in a medium with a speed of & m/s
snter into anolher medium where its speed is 2v m/s. Wavelength of sound
waves in the second medium is:

ol meam H v m/s @ TR 9§ Terh g8, A wended o el gl R e e
5 g o 3 fored g W 20 m/s O B g Awam ¥ e e o

i ' (2) A/2
e W (4) 4x

56. A dielectric object when placed ina non-uniform electric field exXperiences :
(1) A force towards -highﬂr field strength
(2) A force towards lower field strength
(3) Nu force
(4} A lorque
e v SEEAE e 3w R 89 9 3 R GIRSE
(1) R Ry & B i T I T B
2y & Rgd &5 @1 AR A 12 @l |
(3) Tg el wr B T

(18]
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57. A 100 m long antenna is mounted on a 500 m tall building, The complcx can

58,

become a transmission tower for waves with 2
(1) ~400.m . ' ~ (2} ~25m
(3) ~150.m | @) ~M00m

wmﬁrﬂm?ﬁaﬁrimiﬁﬁmmmmtrwmaﬁmﬁw
% Toy o Wawr e e we e L 2

(1) ~400® @) ~25%

(3) ~150% ° (4) ~24004)

The resolving power of 3 nﬂt:::nseupe depends on :

(1) Thesizeoftheobjeet - - (2) The calourof the object
(3} The Wpl?ﬂfﬂwt)hﬁ'tt (4} Nene of the above
gl 9 B s Pt w0 Poiy 84 8

(1) g B arme ox (2) T & W

(3) a9 & vewr-w | | @) TR ¥ 9 o

A uniform metallic rod rotates about its perpendicular bisector with constant
angular speed. ¥irishagted urufbm'ﬂy to raise its temperature slighily :

(1) Its speed of rotation increages. : :

(2) Its speed of retation decreases.

{3) Ita‘spee::! of mféﬁﬁﬁmm . _

(4) It speed increases because its moment of inertia increases.

wmﬁwwmma@ B SR @ AR B A 9 ok
Hﬁﬁﬁ g| qﬁ FESED Q]’FQT GBI E:FE m "E#i U R T ?ﬁ m&;ﬂ y :

() gaw s e &) .

(2) oot amer ere o &y,

(3) o= = amRafda e §) ‘

(4) 59 oroee angebalgly ST gihy wry v wrd) T

(1g)

P.T.O.
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60.

61.

62.

A particle of mass m is thrown al an angle « to the horizontal with an initial
velocity v in the gravitational field of mars whose acceleration due to gravity is
f. The maximum horizontal distance covered by the particle will be:

m Wwwmnﬁ%ﬁ{%qaﬂwmﬂﬂﬁﬁéwmmaﬁﬁvaﬁ
mﬁﬁﬂﬁﬁﬁ%l&ﬂﬁﬂﬁﬁ“ﬁﬁmﬁ?ﬂf%,ﬁmﬁﬁﬂﬂﬁﬂé

vsinom T BN
W = B
E
ey 2 2
{3} Psin o : {4} vo N d
f f

If the time period of a simple penduium is T, then it's kinefic energy is also
periadic with the time period.

aﬁﬁﬂlﬂﬂwa‘m?ﬁwﬁaﬁm;aTammﬁmaﬁﬁaqmﬁ‘@hﬁ‘éaﬁ?
T STad T e 8

T ,I-

@3) 2T | @) %

A tennis ball when thrown into air describes a parabolic path. If a tennis racket
is thrown into the air with spinning and twisting motion, then its centre of mass
describes :

(1) A straight line (2) A paraboia
(3) Anellipse (4) A complicated curve

mﬁﬁﬂﬁﬁztﬁwaﬁaﬁmm.eﬁaﬁwﬁmﬁmwaﬂw%
mmmﬁw@mmﬁmwmmw@mm
Zw  f T T A

(1) @ B Y | (2) X Jrdien
(3) 1@ & 7 @) e wfed o
(20)
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83. An organ pipe open at both erids has a funda mental frequency of 400 He. If one
end of this pipe is now closed, the fundamental [requency will be ;

V@ i afere A R e el & i 400 o %) o omafy v 21 e gw
Wmﬁﬁrﬁwmwm-mm,m'@m@%ﬁm:

(1) 200 Hz (2) 300

(3) 400 Hz () 54 lle

84. An emf of 100 V maximum and. frequency 20 Hz is ﬁ-pp‘lii‘é& to a 20 wF

capaciter, v.m.s. value of carrent is -

20 & mgRy v s 100 V. F f3Yq 9% a9 O 20 Aowe it B il
Zﬁaﬁ#f'm-ﬁvn&mﬂmﬁﬂmwﬂﬁ%: |

(1) 12.6mA (2 1?.3-':11..5.
(3) 24.3mA (4) 25,6 mA

85. A transformer is used to chﬁnge .

(1) Capacitance @) Frequency
(3) Voltage (4) Power
v WA Fiet A ageny & Ry g & -
(1) wRar (2) angfe
(3) favar () wfe

88. Bohr radius for hydrogen atom is 053 A. The ground state Bohr radius for He'
is:

_mﬂwéwﬁ?%ﬁﬁmaﬁjwﬁmﬁwaﬁmmw

() 0.134 A RN vacn e
(3) 0534 @ 1964,
(21)

PT.O
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a7.

B8.

89.

If 100 gm of steam at 150° C is cooled and frozen into 100 gm of ice at {° C
(sp. heal of steam = 2.01 kI/kg K and that of water = 4.15 kl/ kg K). The

removed heat is

sz 150° C W% 100 W T B S Fh W faur rET & ay 0° C o8 100 9T @l
o o ST 1 (e ) R @S = 201 Kl/kg K, $ e 418 kl/kg K )

Bresrd T HUN B
(1) 2114 (2) 311K
(3) 411K (4) 511 k]

The carbon isotopes C'? and C™ satisfy the followiny condition

(1) They have identical chemical and nuclear properiies

2y They have :dentical chemical properties but different nuclear propertics
(3) They have different chemical and nuclear properties

(4) They have identical nuclear properties but different chemical properties
Wﬁaaﬁ?@rﬁ(“zﬁtmﬁﬁ%ﬁﬁwﬁﬂﬂmﬁﬁm 4
(1) Hﬁwmﬁﬁwﬁnﬁﬁﬂwmmﬁa‘r?ﬁ

(2) T IalIE T ghe SR fyE g O] HET-SET L]

(3) wa wrerafre ok FRERT or <A & S-S e #

g

(4y ey oyl SR ST [T Ser-aer o ©

Bernoulli's theorem relating to flow of a fluid is.a statement of @
(1) Conservation of energy

(2} Conservation of momentum

(3) Conservalion of ;mg.u.'iar momentum

(4) ¢ pnservation of mass

(22)
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el & JaT8 Fae] & &1 59y @ew &
(1) AT EeET @ (2) | TRE @

(3) ot ¥ ey (4) TEAA ERET @

In an inelastic ¢ollision of two objects the following is not conserved :

(1) Momentum {2) Total energy
{3) Kinetic energy (4) Potential energy
2 gl o s Tawe i frefaRe Bt G T8 -
(1) W& (2) B Fo

(3) s Hui (4) fufaw wuf

The wave nature of light is manifested by its following property :

(1) Reflection (2) ﬁnpagaﬁun in siraight line
(3) Scattering | (4) Polarization

ST w1 qe-aits Pt o @ vl %‘m%%:

(1) owt . @) v 8 B ¥ vam

(3) waIT= (4) gaor

When light is incident at the polarizing angle on a glass plate, the angle

between reflpcted and refracted rays is

o el 8 A T B frer g e e O 8 e
ve afd ol @ At LR ¥

(1) 30° @ 6
@ 90° o L. @ e

Nt PTO.
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73. In a pn-p transister the n-layer is sandwiched between two p-layers. The

thickness of n-laver is:
(1) Very small compared o p-layers
G Very Lirge comuaared e -lavers
(3 The same o= that of p-lavers
4y Independuent of that ol p-layers
P p SRR 3 T pUE @ 4rg poRe B B g w A FIET
(1) p-uded ¥ ggd o EIdl 8
(2% pooEl Agd afferm Bt % |
(3) poowet W oAwme a2

() pdl 6 By AE e g

74. The Meissner effect is observed in the phenomenon of :
{1) Nuclear fission ) (2) Radivactivily
(3] Superconductivity (4) Ferromagnetism

Sarae e Prefefiad ® San W §
(1) i fRas " (2) e
(3) il (4} AE-FESA

75.  One of the basic assumptions of Einstein’s theory of relativity is .
(1) Mass of a particie changes with ils velocity
L
(2) Mass can be comverled inly energy

(3) A clock slows down when in motion

() Veloaly of light is constant

(24)
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FFHCH @ Wiw R 9 5 5= aReca & R
(1) & @ wr f5edt ffs #1 gemm gaem 2

(2) v Wit § Rl far o e 2

(3) TRET B W wd g v o § |
(4) yere o TR ger Riwwie &

[ MATHEMATICS ]
The value of g’-&msﬂ ¥ ORIy 1o
j;ﬁcﬂsax-e’“'ﬂ.v““";dx-- a A
(1) -1 : (2 1

i
® 3 W <
Thesolution of the init Y o 410~ o) o
H nﬂ.ﬂ I:he.mltlal value pmblemm=2x, yi0) = y'0)=4"10)=0 is:
d’y |
TRPE A T Ex—-—zx y{{}j ¥{0)=y'(0}=0 'ﬁrzﬁt

q.

() y__l_ﬂ_

x? )
{2} y=ﬁ+9x + 109

(3) y_—-mxhiaxﬂ +10gkd

x"! _
4) y= 1—2_+ Tx +TOP

P.T.O.
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78.

79.

80.

81.

The value of

I¥ A and B are two subsets of a set X then (A\B) v (BAA) 18
aft A ol B g syE X & e € 1 (ANB) v (BAA) B

(1) AnB (2} (AwBNMAAR)
(3) AuB 4) (AuB)mA

If £= 401, 1), 2 3}, 0, -1), (-1, -3)j is a function described by the formula
ﬁl}—m b for 5c)mu1nt-ag¢_r5crandb thena + 2b is :

Hﬁz‘f = H], 1), '[2, 3}; (ﬂ,— —1}, [-'1, ‘-‘?” Ude el | ?!F_ﬂ:;} = axr+h, mg‘é[ a 3T b
T E, 2] afite ® 7 g+ 2h @1 T F

(1) 2 (2) 1

(3} C @) -1

secO +tan=2,0<0D= %,thenianﬂis:

E&E;ecﬂivtanﬂz?.,l?f‘é <Z ¥edrtant -

i
2

(L) (2)

Lalun
oLh| Lo

(3) 0 ‘E

o I

1001
cos120° 1 LDﬂSU“} gt (q n120° + sin30° ] o

o 1200 - sin 30° kurmbl 20° - cos 30°

001 4 3 1001
/ cos 120° + cos 30‘”"1' +f gin 120° + sin 30° ) sy
| Sin120° - sin 30° ) | cos120° - cos 30°

LY

m} 2'.[:(3‘. +1 . (2) AU _

(3) E'sim {_4‘) Q
(26)
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83.

84.

- ®
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If A, B, C are angles of a AABC such that tanB:M then the
. 3 . ¥ .- sinA-8inC
relatior in A, B, Cis:

*

T A, B Com AABC B W 9 # B tanp - SO8C084 & 4 5 oy
: e - sinA-sginC

Lo '
(1) A+B-C=0 . () 2C=A+B
(3) 2A=B+C (4) 2B=A+C

Let Z be the set of all integers. The solufion of a trigonomelric equation

2.8in% x £8ind Dy =2 is:
Z =t el o oy &) Pt wheer 2sin? xs sin? 2x 2 2 @ Tor

() fmf-nezjnlnmig;mez}
2) fmig :me 2}

(3) Inni—;-:nei‘lulmﬁi;?:m@?}.

(4) [nni%;nez}

Az, zp,, vZlgg  are 100 mrﬁpléx numbets such  that
{ 7 [ =125 42 inciinsse. . p =1then |z + 2z, +........ +Z is:
a8t T
U% By B i, ,Z“]G Q-\lﬂ 100 ﬂﬁ:{'ﬁ HE:'T‘\? % %
12) [ =L | =i = | 2109 | = | & [21+2;+. it 2y | B
> nn . e T . _
{1) ] +—]—+ .......... s _ (2) —1+—1-+ .......... +——1_-
2 o . ik - <99
l. I . )
[3‘} l_l_+—J- ......... +E‘ {4] 1 ‘L'F‘—‘}-'--!- .......... +L'
ng ~Eigmy "_z - Zi00,
(27)
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8a.

49" : L
2" Tt =n{n -1)| 1l 1, n being a positive integer > 2, is divisible by the
) !

following number
2" —7n-nin-1) |{£3-j~1, n TF et ot > 2, el & o 2
2
5

(1) 340 . (2) 341

(3) 32 (4) 343

ithmets ssion are ; 5 respectively
86, If the 5™ and 12" terms of an arithmetic progression are 30 and 65 respectivel)

87.

and sum of its frst 4n terms is 1150 then the value of nis:

Hﬁqﬂiﬂmﬂ?&ﬂﬁiﬁﬁﬁaﬂilzéqﬁm:m&ﬁﬂésﬁammﬁumén e
AT 1150 A n @AM R

(1) 2 (2) 6

(3) 5 (4) 4

If a function f:[ﬂ -E]’ —» (—0, ) i8 defined by f(8}=tan50 0+cot50 0
_ "2
£

whe | 0,— |, then the period of fis
)

£
Cox) : - L3 g
i @ Herr f:LO,%J—}[—u:-, w), f{)=tanS0 8+cot508 Voe 1\_[}.9{5 5

oRfie &, @ f @ smafi 8

m @ %
I
() gﬁ W o0

(28)
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By = Zr’mandsg Zr'w{c:rclauib}lt}wnthereiahonms

n={ n=0
and S, is as fallﬂwmg

ufg 8§ = ZFMWSQ ZF“ ﬂ-ﬁr-c:lﬂ::lb}l%cﬁslﬁﬁ'{szﬂ
. Fi=()
ﬂ’ﬁ%&iﬁm?

— 'I’S -]\'|; '{S«J-_.—ulﬂlu
{1) § =8 o ol e Sl S S
R : L S ) [ S5 |
1 1 i
3) [31 ]a:(sﬂl b w Sl 81
‘ 5 ) 5 51 Sg

The equation of ene of two straight lines passing through-(7, 9) and making an
angle of 60° with the iine x— V3y 3y-23=01s:

R (7, 9) ¥ o el aiw Y@ - V3y-243 = D?Tﬁﬂ"’i'ﬂi'ﬁ‘-"lﬁﬁﬂioﬂ
A @ § Y T Y oy e .

{1) x=7

{3]x+y=16

(2) x=9
) x-y=2

The equation of the ¢llipse Im ng ¢ centre at (0, 0), fon {1, 0) and (-1, ) and

eccentricity ;

R é: B et &
1) el L
@) %ﬁf’j’#—gﬂ _ (@ _Zf:a!f”‘:l

~Z)

P.T.0.
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s
P 11 ;
a1. = ezl = 2= then ris:
J”.“f;.‘. R

EEP
g a1l ao@e g
Vp .. 52

(1) 6 27 (3) -3 (£) 2

92, .[[,. Ii dx isequalto:

Y 2w

[;\2 X de PrfeRes & avee @

(1) 2 ( ] (2) 2[1—%1

(1 7{__1] (4} 201 +mn)

93. The colution of the differential equation x(xdy - yex) = ydx with the condition
y(l)=1is:

gt BRI x(xdy - ydx) =ydx,y (1) =1 o wied, ¥ 59 B

! l

(1} y=2 1__’f—l (2) yr?xzel“x_ =
Yy=2xe .

1 1_1
(3) y:x?‘el_; (4) y=xe *

94. The angleal which the vector 21+ j -2k is inclined to y-axis is :

Hﬁ'ﬁ 2+ j—!k yaiﬁ'ﬁwmﬁﬁ” ?&B_FHI'%’#

i"'.

a2 ) } f

(1) cos lf\- _3] (2) cos %J
: 1)

(1 4 cos =

3 cﬂs'llk“a'} : (4) cos |k3 |



95.

96.

87.
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Let @ and b be two non-zero vectors. If (8.bY = (| d@ || b |, then the angle
belween d and b is

a Wb DagmERn ¥ AR (G.5Y = (|d||b|PRra ks Bdm
@t B B |

(1) 90° (2) 60°

(3) 45° - 4) 0°

The distance between the planes 2x -y + 2z -3 =0and 4x -2y + 4z + 5 = Qs :
el X~y +22-3=0 M 4x -2 +42+5=0% ﬂﬂﬂﬂ{'ﬁ g:

s.

1) 11 - ) A
( @ ¢
1 11

®) 5 @ =

A coupie has 2 children. If first child of this coupies a boy then the probability
for both childgen beirig boys is : |
qa*eﬁ%%a‘rmﬁﬂ;uﬁtaﬁ*ﬁ%ﬁqm ¥ EF § M AT e B wed
B & e & ,

(1) o L
@ 4

(3)

e B

@1

B Ay nd 3
The sum of the series 1+ i ;TE + L+2+2 +1t 202 12 +

3! 41 ~enrnennne 184
142 142422 148,092,483
yoft 1+ 4 + A + a%t-'"‘-l.—m*m,g
(1) efe-1) @ efer1)
@) e+1

L P10
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99,

100,

101.

1 00 Di
0 1 0 0
If A= 06 10l then A9 ig.
00 0 1
|1 0 0 0!
yf e 100 _\i}k_‘:‘[ AQUUC‘ i_é.:
o 0 1 0O
LU 0 0 1]
(1y 24 (2) A (3} 34 {4) 20004

d“t dy .
It y = cosmsin * x}, then (L-x*) 55 - x=2 is:

dx®  dx
2
af y=cosimsin 'x) & [l—xgli—x—g— x% 7
(1) my 2) miy
(3) ~mly (4) - my
SECTION-IV
g - 1V
BOTANY AND ZOOLOGY

[ BOTANY ]

First stable product of dark reaction during photosynthesis of C, plants is:

(1) PGA (2) PEP

(3) OAA  (4) RuBP
cqmtﬁﬁmﬁmmwa%wmﬁwm#mwrwww
% | | "

(1) PGA (2} PEP

(3) OAA (4) RuBP

(32)
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102. Blast disease of rice is caused by:

(1) Pyricularia oryzae ' (2) Helminthosporium oryzae
(3) Xanthomonns oryzae (4) Aspergillus oryzae
ur FY e fAd R e e ¥ 7 '
(1) RRgeRar syt (2) BewirereiRe JiRTgoh
(@) S st (@) vefras avgoh
103, Wart disease of Potato is caused by :
(1) Phytopthora infestans () Synchytrium endobiticupm
(3) .ﬂiwm solani (4) Pseudomonas solan:
37, 9 ad dr Rvas 2 8 7 | -
(1) weemdir g . @) AR eslaifer
(3) areeiRar v | (4) =S W
104.  Velamen is found in the the roots of ; I
(1) Cycas _ . (2) Orchids
(3) Mangroves ) Eerns
foreah wigt # o qray S & ?
() argwer : () sriegw
(3) H=pew @) w
105. Stipules are moedified into fendrils fn -
{1) Yueca (2) Glorigsa
(3) Antigonon (4) Swmilax -
forr Ay % St @ WY wEe A B a9
1) T ~{RperenrrgraT
(3) T | . @ e
(33}

FT.0.
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106.

107.

108.

109.

Flower buds are modified into tendril in :

(1) Pea (2} Bignonia
(3) Antigonon (4} Porana
for 9 5 g @ wore # w8 W ¥ 7

(1) Aex (2y T
(3) gt {4) grer

Coconut milk s used in;

{1) Fermentation (2) Dairy Industry
(3) Tissue culiure (4) Pharma Industries
Ptz fres @1 Fa [ e g v

(1) wF-2er (2) a1 &

(3) TP Hag (@) war FE

Endosperm 1s absent in seeds al ©

(1) Orchids ; (2) Wheat
(3) Caator (4) Maize
free el # yoroy =8 o et R 2

(1) smfores @
(3) 3 (4) i

Cork is impermeable due to deposition of :

(1) Lignin , (2) Suberin
(3) Tannin (4} Resin
Sy PRiger & BV B SR B E 7

(1) ffae | @) R
(3) ¢ (4) 3w

(34)
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110.  Opium is obtained from :

(1) Latex of upripe fruits (2) Latex of ripe frujts
(3) Latex of wholeplant (4) Latex of roots
iyt Rverdy ey e s # 7
(1) R o walrs dv & @ WeRBERA
3 ¢ M PP @ s P e A
111, Wluchafthe fn]lﬁmngmmmrrectmkh regardsmfamﬂyﬁsﬁeraﬁme?
(1) Basal placentation 3 ~ {2) Unilocular ovary :
(3) Hj?pn.gpnsus Aower (4) Syngenesious stamens |
Teew g A e § Prefrie o P e 2 7
(1) s st e | (2) THHIAY SrEHT
(3) sdwr gor ' (4) g’ﬂaﬁuﬁ GPHER
112. First h'a.nsgegpggpm Wwas : P
(1) Cotten (2) Rice
(3) Pea (4) Tobacco
VO EREAe e e ;
(1) w9 . (2) &=
3) wex b (4) T
113, Who pmprmsed the term 'Ecosyﬁl-em'-;-: A ‘“""'""
(1} Odum - o (2) Gardenier
(3) Tansley (4) Warming
TR (MRS «=) v &1 wrdvem s farest oo 2
(1) @iren T
@) twm AL
(38) K P10,
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114. The term 'Operational Taxonomic Units' (OTU) is used in :

115,

116.

117,

(1) Numerical Taxonomy (2) Biosystematics

(3) Molecular Taxonomy (4) Chemotaxonomy
ST e g (OTU) wee %7 war fes fn s & 7
(1) "Rl Eawe @) wdfReRT
(3) wifager EFAM (4) BreEwIE

Coffee planis beh:}ngs to family :

{1} Apocynaceae’ {2) Solanaceae
(3) Myriaceae (4) Rubiaceae
T @y dry frw gE wT R T

(1) SO (2) e

(3) fResr (4) BT

Which enzyme is called"molecular scissor’ ?

(1) Ligase ) (2) Restriction Endonuclease
(3) Z}'masé (4) Protease

wra-d Tearge it R wE o 2 7

(1) v (2) RigaeT T

(3) wrgHw (4) WIEUE

Transgenic golden rice is enriched with:

(1) Vitamin-A (2) Lysine
(3) Methionine (4) Vitamin-C
"frrﬂthﬁﬁﬁﬁﬂﬂm'ﬁﬁzrgﬁmﬂﬁwmmm%?
(1) frefwa-u (2) ST
(3) A (4) Refmd

(36)
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118. Myrosin glands are found in :

(1) Asteraceae () Malvaceae

(3) Brassicacese. = - < ) Salsnaiy

PR v et o ot # 2 .

(1) geevar (2) W

3 @ R
118, Scattered vascular buﬂdleg are fmmd in stem of :

(1) Pappoer (2) Nyctanthes

(3) Hibiscus 4) ﬁigﬂﬂnm

ot g weme gor farwad # WEE?

(1) e @ P

(3) Bfiwsw 4y farfoar

12ﬂ.| Which Lq‘termi,;na.{iﬂnn codén' i genetic code ? |
AR T 3 T 3 T T 2§ 7
(1) bee | v R
(3) UCU @) UGA

121. Hetémspwy and Ligulate leaves are features of :

0 Lesprau 5 il

(3) Selaginella . Eside

(1) FABRYEIH _ @ e

(3) qafren @) 3o
(37)

P.T.C.
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122. In Lycopodium stem, the stele is:

(1) Siphonostele (2) Meristele
{3) Proiosteie (4) Polystele
ST & = § few TER W Hw T 9 W 8 7
(1) Ry (2) e
(3) S (4) dreRTe

123. Which of the {oliowing is Bryophyte ?
(1) Bog moss - {2) Yris moss
(3) Club moss (4} Reindeer moss
P 8 QP wdmET § 7
() 9 dE (2) omafts W
(3) FoTE Wi (4) e g

124, Meristele is found in :

(1) Pinus needle {2) Fern rhizome
(3) Cycas stem (4) Cycas root

(1) oTETa & 90 o G+ B UFAH
(3) EHH BT T (4) WEHA B S

125, Pyramid of energy is :

(1) Always inverted (2) Always upright
(3) Spindle shaped (4) Curved

== w Qe & g 7

(1) war ST ) wdar Qe

3) Refed CRCIT (4) @

(38)
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127,
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[ ZOOLOGY ]
Glucose is converted to glycogen in the : '
(1) Liver (2) Monuth cavity
(3) Intestine {4) Kidney
Frfaim # & ot @ g § wod o & ?
| R - @
(3) @ (4) e
The end pmdu{:t of protein catabolismis :

(1) Urea () Uricacd

(3) Ammonia . {4) Glutamine
WETR g & AW g &

(1) gRar @ 7w
(3) s (@) wqaﬁ-«y

128. Net 'gain of ATP molecules in anaerobic respiration,- i.e, breakdown of one

129,

molecule of glucose into two molemles.of pvruvic acid. is -

mwﬁ,ﬁmﬁ%w%ﬁa@ﬁﬁvﬁmﬁ%ww%@ﬁm
fset ATP sropoft ot g oo B & 2

(1) 38 (2) 36

(3) 4 o @) 2

Cyclic AMP s degraded to AMP by an enzyme called :
(1} Restriction endum.;cléaﬁe @) M eyclase
(3) Phosphodigsterase .. - (4) ATPase

\39) PTO.
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130.

131,

132.

ity v v § Prafafyg § 8 frw Tomew g ¢ wm § A oielde g @ 7

(1) egawm veFyfies (2) ISR g
(3) FIEREER @) Ty

Which one of the following cell types does not divide in adult organisms ?

(1) Primary gv:-.'r-rn cells (2) Neurons

(3} Intestinal epithelium | ~ (4) Corneal epithelium
Prafefige aferarsil @ R fvrem qoww ofidl 7 78 8w 2 7
(1) viniye o PR 2) "R

(3) -amd e {4;; Fif-ar Suwen
Palysomes are many : .

(1) Ribosomes attached to an individual mRNA '

(2) Chain of nucleosomes forming chromatin

{3} Several lysesomes fusing during phagocytosis

(4) Centrosomes clustering during mitotic division

eI

(1) @4 vedes mRNA T T 89 @] 1 ol 2

(2) @ wftederw & @ W ol B @ wE W 8

(3) FE AT B TD WA LS WA PN el Al

(4) T Reirom @ e o IR B S wW 8RB BE Wi

During meiosis when a cell actually becomnes haploid ?
(1) At the end of second division
(2} During recombination in pachytene
{3) During chiasmata terminalization at diakinesis
(4) At the end of first division
(40)
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T PR o AT # seRpl R @ SR Sqeies o o 2 7
(1) fadi o o v
ﬂ]ﬂﬁfﬁ?ﬁgﬁ%ﬂzﬁﬁm_

(3) TR ¥ Ry efiaredve & B

(4) vy oo oY Wiy

133, Which one of the following organelles is rich in acid hydrolases ?

(1) Lysosomes g (2 Geolgicomplex: |

() Permdﬂm | {4) Rough endoplasmic reticulum
(1) e . (2) witeht wirdrmw

(3) T (4) ¥ TR Y

134, Most of the membrane lipids are synthesized on:
(1) Rough endopiasmic reticuluin (2) Nucleolus
(3) oot el e, [0 M faciecs
ey wwmwﬂm% (2) ~feeey ¥ g 2
(3) v Yo Rl WE & (s) fterw § o &

135. A chain of three amino acids mmmmﬂgaueﬁ asa: -
(1} Polypeptide " E—} Tripeptide
(3} Dipepii’ | (4) Amino acyl mole®wa
| 41y |

P.T.0,
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(1) dfefierss #ed & (2) TEY<TES Wed &
(3) TR PEd § (4) Sf oftrar oy wEd &

136. The organs of our body that are rich in T-cells and B-cells are :
(1) Liver and gail bladder (2) Brain and spinal cord
(3) Spleen and lymph nodes (4) Small and large intestine
et s @ @ il @ I PRI O Tocell T Bcell 3 o 7
(1) fomR e e =TSy (2) #Rasr o1 AVTTR
(3) e ol fors e S @) 9 W

137, Anallergic reaction is initiated by antibodies of :

(1) 1gM group : (2) lgA group

(3) IgE group | (4) IgG group
QEFWIWWWF&'E e B verEid g B & 7
(1) g & 1 (2) 1gA @i

(3) TgE « (4) IgG Tt

138. If a cell contains 23 pairs of chromosomes just after completion of mitobic
telophase, how many chromatids were present in metaphase ?

ﬁwaﬁ&ﬁﬁﬁrﬁ%ﬁmﬁwmﬁﬂ#@ﬁmgﬂﬁrw
FfRr ¥ e ¥ R wiftew Y
(1) 23 (2) 46

(3) 92 (4) 184

(42)
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139. In addisons disease antibodies are formed against own :

(1) Adrenal cells (2) B-cells

(3) Lymphcelly (4) Chief cells

e ¥ G T T P # e o B2 -
(1) Ve a8t (2) B-wfwwit
OR-CE @ 4w DR

]

140.  Grey crescent of frog aiibr?ﬁ'?é}ir&aeri’r“; the future:
(1) ﬁntermrmd& of dev&elnpmg embryo
(2) Posterior side of developirg embryo
{3) Ventzal side of developing embryo

(4) Dﬁma!'sidaaf-ﬁwelugdnﬁ embryo
ﬁmﬁE’i'blﬂrfmﬂﬁiﬁ*_r:{CreyCrescant]‘ﬁ‘iﬁ%ﬂﬁWﬂT’Tﬂﬁﬁ?ﬁﬁT%7
(1) f%mmgw‘aiﬁ?ﬁr\rwa‘fr [z} Rereie 4y & MR @ 7
(3) iﬁ"ﬂwﬁawa‘aﬁﬁﬂﬂﬁ {4} ﬁmﬁaw%@wwﬁ

(1} The daughter cells are s.mal;tﬁ_r in gize than the mﬂther cell
(2) Thereda: mmmw oftheembryo

{'%3 The Emb‘l:‘yu rapzdly grows in size 4s the cell increase in number

mpard 0 mitotic divisions
sﬁﬁ%ﬁﬁmqmﬁﬂﬁmm¢mﬁﬁiﬁﬂﬁ%?

1) uﬁfaﬁﬁ-@ﬁmﬁm

(2) g @) A0 A o R T8 e 2

() T#HWW#M%M%M&*

P.T.0.
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142. A living fossil is:

143.

(1) A fossil preserved in almost live condition
(2) An organism which is newly evolved and living

(3) An organism which has survived without any evolutionary changes over a
long period of time

(4) An organisin which just died

o Hfte S T L

(1) orE ST ared W v g

(2) 74 faEFR‘IH%'GH G HERE

(3) TH o IR o afteds B of 2

(4) &/ B 7 o g2

The embryos of distant group of organisms show close similarity. An
evolutionary theory which dealt with this aspect is known as
{1} Inheritance of acquired characters

(2) Theory of recapitulation

(3) Origin of species

{4) Theory of anatomy

{?ﬂﬁﬁiﬁﬁﬂmﬁﬁwﬁalﬁﬁlwﬁﬁﬂmﬁ%@ﬁﬁaﬁ%
awafaa & -

(1) THTGE TRAX A TR
(2) TR &1 fHE
(@ v 3
(4 T g & Ry
(44)
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148.
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Which of the following statemenls is incovrect 7
(1) The notochord is ectodermal in origin

(2) The brain is ectodermal in origin

(3} The digestive system is endodersmal in origin

(4) Bones are mesodermal in origin

e % F Pear v g R 7
(1) e e & Rt g 2

@) 7 gy ¥ Refn g @

(3) = T dersd Y fwfyy s 2
(4) wiewdl Aereid & Rmfay @t 2

Pleura form double membrane sac, which ?

(1) Envelops brain (2) Envelops lungs

(3} Envelops kidneys Y (4) Lines nasal passage

R <l R e T 8, o ' ‘

(1) AR @) over & o (.3@;5@{3}@3 |

(3) foe % A @ . @ T A A A e B e ¢

Site of gaseous exchange in lungs is :

(1) Tracheoles 2 ioles

(3) Pulmonary vein (4} Alveoli

e ¥ A% BT AT .
(1) 2o, . () widem T 2

(3) gwEw fRrg et & (4) vfeaaeh oy 2

P.T.O
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147. 1f a man from sea coast goes to Everesl peak :
(1) His heart beat will decrease
(2) His respiratory rate will decrease
(3) His breathing and heart beat will increase
(4) His breathing and heart beat will decrease
afy v A TR T W E @& A W g , o
(1) Swal gga afy gF Bl
(2) T TAEA T T gl
(3) SWSH IET T AT §SA fy =T B
(4) wwe TowH ax e gad i w & s

148. The membrane phospholipids form bilayer, when water is available on both
sides, due to:

(1) Its amphipathic nature

{2} Presence of unsaturated fatty acids

(3) Presence of saturated and unsaturated fatty acids in its tail

(4) Presence of chulesterol alung wilh phospholipids

freh & s RReR Q) wa ¥ & & 9@ S TR I e RO
(1) o S 2 ¢ Tag U 8

(2) SWe FHGT TR A B @ FROT B

(3) ;ﬁﬁmwmﬂﬁmmﬂuwﬁﬁ%ﬁ%ﬂ% awe ¥ 8

(4) 4 PR a1 PR S T B A e 9 B

149. Fora given gene, @ diploid individual will contain :

(1) twoalleles (2) one allele

3) multiple alieles (4) two genes

(46)
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132,
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el +ft o9 w1 v Toize gt ®
(1) < S (2) T Teiie BT

 (3) 7ga ¥ Wt (4) & s e B

The main producers in an.&quati'c ecosystem are :

(1} Largercoted and floating plants  (2) Zooplankton
(3) Phytoplankton (4) Detrivores
(1) =3 ol 9y St o () qferes

(3) wrEeida (4) =g

SECTION - v
qrg -y
AGRICULTURE

The state producing maxinm rice'in India ;

(1) Punjab (2) Bihar

(3) Uttar Pradesh (4) West Bengal

weiftm T @ S AR @ R W Y Rm A T

(1) o - ' (2) faex

(3) % udy e

'DUS-test’ has beert started for teating :

(1) Irrigation | {i} Crop varieties

(3) Cattle breed (4) Milk purity

B N ol o S

(1) fierg (2) we e

(3) wg sy (4) pogEa
(¥ny
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1583. 'Gene for gene hypothesis was proposed by |

(1} Flor (2) Darwin

(3) Johansen (4) Thomas Fair Child
o Bt S @ uReerr [ faar ?

(1) TR (2) =1

(3) FEA (4) oTF¥ WY EEes

154. 'Plant Quarantine' is mainly concerned with :

(1) Checking the entry of new plant insect-pest, diseases, weeds etc.

(2) Controls the seed production of crop plants

{3) Development of new plants varieties

(4) All of these

G- e Hefga § 7

(1) ¥ B e, deTn, GO gy B T W W ged ¥
il

2) wHat @ ddicred & e @

() 72 wEat A e ReRa aon

(4) 7w

166, What is necessary for seed formation in plants ?

(1) Meiosis ~ (2) Mitosis

(3) Male sterility (4) Female sterility
o ¥ At & v v T e #

(1) s () (2) R (Figeera)
(3) R I (4) =T FME

(48)
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158, 'Who is regarded as father of green revolution ?

(1) Dr. N.E. Borlaug () Dr.V.L.Chopra
(3) Dr. Yuan Long Ping . {4) Dr.G.H.Khush
5Ra w1 77 T Rt e o @ 2 -
(1} ®fo THe fo FRAMT (2) Sfo Ho Yo g
(3) ®fo gur wy ffr | {4) <to Sfie Y=o W
157.  Which crop is known as amphidipleid?
(1) Maize | (2) Rice
{3) Wheat ' (4} Pea
P TEE CARwe & 7
(1) wae (2) &=
(3) g _ (4) wex
188, The first aromatic hybrid rice variety ifi Thidia is :
(1) Arize-6444 (2) PRH-10
(3) APRH-1 (4) NDRH-2
ARG A g GURRT Waw e B e 2 '
(1) woreTr-6444 (2) 9 3 wE -10
(3) T & R Ty -1 @ &R TE-2

198.  The symbol of haploid plant#r™- .

(1) x 2) n

(3) n-1 : M) n+1

¥ifge W o1 for (R w87

(1) we | gL I S BURRES TR
@ -1 | 4) 77 +1

(493 | P.T.0.
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160.

161,

162.

163.

The Indian Institute of Wheat Research is situated at :

(1) Lucknow (2) Karnal

(3) New Delhi (4) Hyderabad
ARATY T8, aIEu T wEl W feg 8 7

(1) & & ' (2) TRATE H
(@) 7 R ¥ (4) Fewa 7

Which of the following elements is not secondary nutrient elament ?

(1) Manganese (2) Magnesium
{3 Caleium (4) Sulphur
Preffire aedt § @ ww Rdae vve T T E 7
(1) (2) S
(3) feww (4) TEHT

'SRI-Cultivation' is concerned with :

(1) Wheal " () Mustard
(3) Maize (4) Rice
T AR - fara st 8 7

(1) 7§ L (2) W
(3) AFDI (4) uA

The centre of origin of wheat 18 :

(1) South Eastern Asta (2) Africa
{3) India (4) America
¢ oY SRR O & 7

(1) =rey d¥ed TR | (2) Rt
ORI (4) s

(50)
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165.

166.

167.
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Integrated Farming system is concerned with :

{1) Agriculture (2) Horhiculture

(3) Poultry " (4) All of these
T PR wfy R s & 7

1 PR - () sz

(3) Ffrarer | 4) &=

Whatis the seed rate {kg,/ha) of hybrid rice?

W arr A free (o /) wa & 0

(1) 12-15 {2) 25-30

(3) 35-40 (4} 4550
Average-ﬁfe-ﬂﬂh@ is:

(1) 7-8 years (2) 10-12 years

(3) 1214 yeats (4 146 years

HE BT ST W wTe v

(1) 784y @ 10-129¢

(3} 12-14 & 4) 14-16 a4
Antiseptic medicine is ;

(1) Boricacid (2) Sodium bicarbonate
(3} Carbolic acid . (%) Copporsamvem
quife alufey 8¢

(1) e =7 | fﬁjm %
(3) wEfE &l (4ji_ B WeBE

~(51)
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168.

168.

170.

171.

What is the phosphorus content in DAD ?

& U Y pieprg @ fead wE 7

(1} 46% (2) 18%

(3) 30% (4) 15%

Nitrogen helps plant in:

(1) Vegetative phase {2) Reproductive phase
(3) Disease resistance (4) (il formation
wrggiei ol ¥ e TEEN Al B 7

(1) aFEfaE ow (2) WA B

(3) < A (4) T 34T

The availability of zinc to plants become a complex problem at pH ?

(1) Lower than35 (2) 55-6.0

(3) 6.0-7.0 (4) Above 7.0
hﬁﬁmaﬁwawﬁwﬁﬁﬁﬁﬁﬁmﬁmﬂ??
(1) 559 &9 (2) 5.5-6.0

(3) 6.0-7.0 @) 7.08 FWR

Mustard crop generally escapes serious infestation of aphids when sown ir -
(1) October (2) November

(3) December {4) January

W-TﬁﬂﬁmiﬁﬁmWﬂﬁﬁmﬁ{Qﬁﬁ]ﬁﬂﬂ?Wﬁ?ﬂm:m?
wapaT & ?

(1) FRR (2) wgrr
3) R () TR

(52)
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The diameter of clay soil particle is

(1) Less than 0.002 mm (2) 0.002 to 0.05 mm

{3) 0.05 mm to 2.0 mm (4) Larger than 2.0 mm

Rl Pt (et wifyet) & oo oor e oy w2 9

(1) 0.002 85% & &% (2) 0.002F 0.05 Rkt

(3) 0.05% 20 fH - (4) 2.0 Pt & warer

Tomato yellgw leaf curl virus is iransmitted by: .

(1} Aphids {2) White fly

(3) Hongy bee (4) Termite

I W 4 i v areew s g derd i # 7

M AW @) (2) @ge v (wdy waeh)

(3) Feperl (4) drr

Beetle is the insect of Qrder :

(1) Lepidoptera E {2) Hemiptera

(3) Thysanoptera . (4) Colsvptera

MNew e alfde o e 22

(1) By @. ¥y

(3) wERARR (4) Bifdreies

Mango malformation disease is caL_isE;:i"By b

(1) Bacteria (2} Fungus

(3) Virus | {8 ‘Nematode

M 1 AEEI A7 frwd gy BT g 2 '

(1) g 2) e

(3) sy @) e -
53y,
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176.

177.

178.

179.

Panama will is disease of

1) Potate (2) Guava
(3) Banana (4) Tomato
o fiee et I 8 7

(1) o, (2) R

(3) &l (4) TR

A bacteria Xanthontonas axonopodis is the causal organism of :

{1y Citrus Canker {2) Gummosis
(3) Powdery mildew (4) Diaback
S vEi e S A O @ B 8 7

(1) fhgwr dmee (2) THRTE
() Teed fesy (4} SEHE

The most l;'LJITl'L‘l‘l'..‘H‘Ll}F used fungicide for.seed treatment 1s

(1) Diathane M-45 (2) Thirum

(3) Bordeaux mixture (4) Diathane Z-78
AR g Wil I9a 2 arel =ar @ & ?

(1) €=eT TH-45 (2) foew

(3) drel FraweR (4) <A T-78

Brown rust of wheat is caused by :

(1) Puccini triticing (2) Puccinia gramints
(3} Blumeria gramiris (4) Puccinia striiformis
1% @1 T T forees g B 8 7

(1) e RER 2) weEfE R
) qﬁﬁ?ﬁ HICICE (8) gadfifiar srEwilne

(54)
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Pusa Sawani is the variety of :

17U/102/9/(Set — 1)

(1) Tomato (2) Palato
(3) Okra (4) Brinjal
T AR R wew A e & 7
(1) eomex (2) arg
(3) v (4) Fm
Richest seurce of Vitamin A i -
(1) Citrus (2) Carrot
(3) Potato 4) Tomato
R v 9 o wife vt ot o @ 2
(1) g (2) TR
(3) oM (4) ZwTex
Origin of Aaonla is ;
(1) America 2) Europe
{3) Australia (4) Asla
e w weafly w7 2
(1) s )

- (3) sitefer (4) TR

The Central Agmark Laboratory is situated at -

(1) Nagpur

(3) Lucknow

(1) 7R |
(3) T&Ts

{2) New Delhi

(4) Alimadabad

@) e

£35)

P.T.0
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184,

1835.

186.

Chlorites are basically silicates of :

(1) magnesium with some iron and aluminium
{2) iron with some magnesium and aluminium
{(3) aluminium with some iron and magnesium
{(4) iron and aluminium

soirTge B 4 A s e faelae € 7

(1) F=Rfrmsr @ wrer et oitg @R Tt

(2) S & T g BT aite wegfaf

(3) oA @ g orgl @ o A

() e afw vgHfam

Apiculture is concerned with:
(1) Beekeeping (2) Flower production

(3) Silk production (4) Fish production

e PrEd wrEEd € 7

(1) ] qTE

(3) WA TS

(Orobanche isa:
(1) total root parasite
(3) partial root parasite

W%Qﬁ

(2) e
(4) Aol SedTEd

(2) total stem parasite

(4) partial stem parasite

(2) FEt A e
(4) it a=r oRuftd)
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188.

189

180.
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Which part of the cell works as collection and dispatch station of protein
products ? :

(1) Endoplasmic Reticulum (2) Golgibody

(3). Mitochondria (4) Vacuole
wﬂﬁﬁﬂﬁraﬂﬁ-mﬂmﬁaavwamwwwﬁmﬁw%?'

(1) vermie g 2) ey

(3) Ameeifym @ e

When younger leaves turn yellow and sometines followed by older leaves, i
the symptom of deficiency pf ;..

(1) Nitrogen (2) Boron

(3) Potassium (4) Sulphur

uﬁﬂéﬁﬁ%?ﬁ%m‘ﬂ-ﬁwﬁm_mqﬁﬁﬁﬁwm

?wﬁ##ﬁv-ﬁﬁ%-%#-?'
(1) mom (2) &
(3) wRfiray (4) wewy

The National Food Security Mission (NFSM) was launched in the year :
wﬂawﬁsﬂmﬁﬁeﬁﬁmmWwwaﬂwﬁmwg?

(1) 1975 (2} 1982

(3) 2001 | (4) 2007

Foot and Mouth disease in cattle ig caused by :

(1) Bacteria " ) Vieus
(3) Fungus [4}_ Nematode
AT ¥ qraErfavmr m.&w?

(1) g @ Remg

@) = - 1€y Pt

wehif ) PTO
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191.

192,

193.

194,

The fat percentage of cow milk varies from:

(1} 3t05.5 (2) 61075

13 B0109.50 (4} 10to11.50
m%'@ﬂﬁu‘fﬂﬂﬂﬁ?ﬁrma’mﬁ%?

{1) 3955 | () 6875

(%) 80¢9.50 (4) 1091150

Which instrument deals with primary and secondary tillage both ?
(1) Desi plough {2) Disc harrow

(3) Mould board plr:mg!:*. {1} Rotavator

i wd Rl e am A P 77 QUG B ¢

(1y ¥ = a ) frw 8

(3) Bleg TS wi1S (4) ey

Which of the following is the disc angle ?
Prefafen § B R T € 7

(1) 150-25° (2) 30°-40°
(3) 42°-45° (4) 48°-52°

Generally how many pegs are in Dibbler ?

Parere 3 e fRerd e @t ® 7
() 9 @) 18
3 7 (A 36

(58)
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®TY Popular in case gf
(1) Wheat (2) Rice
(3) Pigeonpea (4) Potato
UIRY R et fia R wgm R CEi
(1) (2) s
(3) oreew (4) 3ey
198. What is pora method of sowing 7
(1) Using Naj (2) Sowing by hand
(3) Para method " (%) Noneof these
I A AR R B g ’
() = (1d) wtn BT (@) T & gog
(3) % fy (4) & =8

e Ermlﬁ‘rﬁ* g7
(1) 1-39 () 25-49
(3) 42-45 (9 7.5-385
188, Continuous uge 0f Urea makes the g0y -
(1) Alkali @) Addic
(3) Neutra] (4) None of thege
Wawm_iﬁﬁ RN Yy ¢
(1) wdg i g
(3) e (e @) o =g

PTo.
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199, To reclaim alkali soil, it 18 best to use !
AR Dolomite

(1) Pyrite

(3) Urea (4) Zypsum
Hﬁﬂﬁzﬁﬁaﬁﬁ%ﬁmﬁtmﬂaﬁ%?

(1) TEEC (2} AR
3) IR (4y foreem

of the following goat breeds yields Pashmina ?

200. Which
(1} Chegu ' (2} Beetal
(3) Saanan _ (4} Bengel
ﬁﬁrﬁﬁmﬁmﬁw@mwmﬁqﬁmw
(1) Y, (2) €
(3) A (4) sl

(60)
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